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GENERAL MATHEMATICS SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C | D. Each part carries one mark.

(i) 0.22 in terms of percentage is:
A 220% B. 22% C. 2.2% D. 11%
(i) Zakat on an amount of Rs 100,000 is Rs:
A. 2500 B. 25000 C. 2000 D. 15000
(iii) Profit % = where SP > CP
Profit Profit CPxProfit% SP
B. x100 C. —— D. 100%——
CP CP 100 100+Profit%
(iv) The amount which is paid by the bank on the deposit is called:
A Profit B. Bonus C. Premium D. Mark up
(v) The tax charged on all the taxable income is called:
A Sales tax B. Direct tax C. Income tax D Excise duty
(vi) M3 is:
A Rational number B. Irrational number
C. Natural number D. Integer
(vii) A machine installed by the bank to dispense cash to customer is called:
A Computer B. Scanner C. ATM D. Card reader
(viit  Logarithmic form of 5% =25 is:
A log,5=125 B. log,25=5 C. log,25=2 D. log,25=25
(ix) Firstterm of a, = ntl is:
2n+5
A2 B. - c. 2 p 2
5 5 9 7
(x) When 4 and Bare two Sub Sets of universal Set U then (AU B) = A'nB’ is called:
A Commutative Law B. Associative Law
C De Morgan's Law D. None of these
(xi) If R ={(1,2),(3,4),(5,6)} then domain of R, is:
A {1,2,3} B. {1,3,5} C. {2,4,6} D. {4,5,6}
(xii) For the point (—1,-2) -2 is called:
A Abscissa B. Ordinate C. None D. x-coordinate
(xiiy)  For x=1in 2x+y=6 we have y=?
A 8 B. 4 C. 2 D. -2
(xiv)  The middle value of the data arranged in numerical order is called:
A Mean B. Median C. Mode D. Variance
xv)  H=—"_ iscalled the:
1
)
X
A Mean B. Mode C. Arithmetic Mean D. Harmonic Mean
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GENERAL MATHEMATICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any Four questions from Section ‘C’ on the separately
provided answer book. Use suppiementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and iegibly.

SECTION-B (M 36

Q.2 Attempt any TWELVE parts. Ali parts carry equal marks. (12x3=36)
® If 84% of a book consists of 420 pages, then find total number of pages in the book.
(i) There are 1029 students in a school. 504 out of them are girls. What is the ratio of boys to the number of giris?
(iif) Calculate Zakat on silver amounting to Rs 300,000.
(iv) A television is purchased for Rs6590 and sold for Rs 6850. Find the profit percentage.
{v) Marked price of ceiling fan is Rs 720. it is sold for Rs 684. What percentage discount is being allowed?
(Vi) How long would Rs.1250 have to be deposited at 6% per year simple profit to gain Rs.750 simple profit?
(vii) The annual value of a flat is Rs 1400000. Find the property tax payable at a rate of 16%.

1 2 3

(viit)  Simplify and write your answer in radical form a*xa’ +a
(a4 )3 (a—l b)l()
a'b’

(%) Show that 3log4+210g5—%logM—%logM:Z

(ix) Simplify

(xi) if logx=0.1597 then find x

{xiy  Insertthree Geometric Mean between 486 and 6

{xiiiy  Which term of Arithmetic Progression 6,2,-2,...... is —146
(xiv) If A={2,3,4},B={1,3}. Find Ax B and write a Binary Relation from this Cartesian product. Also

find its Domain and Rage.
(xv) If y=2x-3 find the value of y when x=1,2,3
(xvi)  Find the compound profit on Rs 60_0 for 4 years at 6 percent per annum.
(xvii}  Find the mean, median and mode for the data 6,2,4,3,4,5,4,5

(xviii)  Khalid works 6 days a week. Find his gross monthly wage, if his rate of pay is Rs 200 per day.

SECTION — C (Marks 24)
Note: Attempt any FOUR questions. All questions carry equal marks. (4 x6=24)

Q.3  Ifthe stay of 12 men for 28 days in a hotel costs Rs 6720. Find the cost for the stay of 8 men for 14 days in the
hotel.

Q.4  Asghar left a property of worth Rs 480000. He left behind a widow, three sons and four daughters. Calculate the
share of each

Q.5 If 15%discount on marked price of a heater is allowed and still makes a 'profit of 2%. If it is sold on marked
price, what is profit percentage?
Q.6  Find the 11th term of a Geometric Progression, whose 5th term is 9 and common ratio is 2.
8.67%3.94 |
1.78

Q.8 #U={,23,45,6,789,A={2369}, B={1,3,6,7,8} thenveriy (4 B) = A" N B"

Q.7  Solve with the help of logarithm table
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